
 

≪ ℎ∗u∗ ≫
𝑡+∆𝑡2  < 𝑢� >𝑡+∆𝑡 

< 𝜂 >𝑡+∆𝑡 

k=nn baro k=0 k=icycle 

t t+Δt t-Δt 

�̅�𝑡 

𝑢�𝑡 =
1

2(𝐻 +< 𝜂 >𝑡) �≪ ℎ∗𝑢�∗ ≫
𝑡−∆𝑡2 +≪ ℎ∗𝑢�∗ ≫

𝑡+∆𝑡2 � 

𝑎𝑘 

𝑏𝑘 

a)  

≪ ℎ∗u∗ ≫𝑡 < 𝑢� >𝑡+∆𝑡 

< 𝜂 >𝑡+∆𝑡 

k=2 nn_baro k=0 k=icycle 

t t+Δt t-Δt 

�̅�𝑡 

𝑢�𝑡 =
1

(𝐻 +< 𝜂 >𝑡) ≪ ℎ∗𝑢�∗ ≫𝑡 

b)  

𝑢�𝑘=0 =< 𝑢� >𝑡 

𝜂𝑘=0 =< 𝜂 >𝑡 

𝑢�𝑘=0 =< 𝑢� >𝐹
𝑡−∆𝑡 

𝜂𝑘=0 =< 𝜂 >𝐹
𝑡−∆𝑡 

 

≪ ℎ∗u∗ ≫
𝑡+∆𝑡2  < 𝑢� >𝑛+1= 𝑢�𝑘=𝑛𝑛_𝑏𝑏𝑏𝑏 

< 𝜂 >𝑛+1= 𝜂𝑘=𝑛𝑛_𝑏𝑏𝑏𝑏 

k=nn_baro=icycle k=0 

t t+Δt t-Δt 

�̅�𝑡 

c)  

𝑢�𝑡+∆𝑡 =< 𝑢� >𝑡+∆𝑡 

𝜂𝑡+∆𝑡 =< 𝜂 >𝑡+∆𝑡 

 

𝑢�𝑡+∆𝑡 =< 𝑢� >𝑡+∆𝑡 

𝜂𝑡+∆𝑡 =< 𝜂 >𝑡+∆𝑡 

 

𝑢�𝑡+∆𝑡 =< 𝑢� >𝑡+∆𝑡 

𝜂𝑡+∆𝑡 =< 𝜂 >𝑡+∆𝑡 

 

Δte 

𝑢�𝑡 =
1

2(𝐻 +< 𝜂 >𝑡) �≪ ℎ∗𝑢�∗ ≫
𝑡−∆𝑡2 +≪ ℎ∗𝑢�∗ ≫

𝑡+∆𝑡2 � 


